FAST 1&S ACADEMY

Entrance Test — 2017

Time : 02:00 Hour Marks: 100
Roll No. T T T ] Date: 10/06/2017

e Instructions to the Candidates

¢ All questions are compulsory

o All questions carry equal marks.

e Necgative marking will not be applicable.

¢ Total no. of questions 100.

e There will be a descriptive test of 30 marks.
e Separate sheet is provided descriptive test.
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Q1 F=fofla vsat & @ Fadhr g
ST qE@T §-

(A) TS
(B) HERTSE
(C) e

(D) 3TYT weer

Q.2 R sha &g §-
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(B) HTYT gar
(C) Af3am

(D) AfAT=TE
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() faew
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(B) HeS
(C) We3A
(D) &=
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(A) AT TS PR
(B) fe¥ehTaX wa AT

(C) ATGIEYT Ud oegedv
(D) GAMT T Frar

Q.10 FAETH FTAHEA F HUR W Hie T
3T SEATTAS U gi-

(A) TTfeREdT
(B) STTAITELT

(ESIRE
(D) Ta781




Q.1 Which state has the longest coastline ?

(A) Gujarat

(B) Maharashtra
(C) Kerala

(D) Andhra Pradesh

Q. 2 Chilka lake is situated at:-

(A) West Bengal
(B) Andhra Pradesh
(C) Odisha

(D) Tami! Nadu

Q. 3 Which of the following state is the largest
producer of coffee ?

(A) Kerala

(B) Karnataka
(C) Tamil Nadu
(D) West Bengal

Q.4 Which of the following is not correctly
matched:-

(A) Rhine - Europe

(B) Nile - Africa

(C) Hudson - North America
(D) Volga - Europe

Q.5 Which of the pairs are correctiy matched :-
1) Vitamin C - Scurvy

2) Vitamin D - Rickets

3) Vitamin E - Night Blindness

(A)1,2

(B) only 3
(€)1,2,3
(D) None

Q.6 Which is the Southern most point of India:-

(A) Kanyakumari

(B) Rameshwaram
(C) Indira Point

(D) Point - Cali more

Q.7 Which of the following state faces most of
the disasters :-

(A) Andhra Pradesh
(B) Odisha

(C) Bihar

(D) Gujarat

Q.8 Which is the longest harbour in the
world:-

(A) Tokyo

(B) Mumbai
(C) Rotterdam
(D) London

Q.9 10 degree channel separates:-

(A) Andaman and Nicobar

(B) Nicobar and Sumatra

(C) Maldives and Lakshadweep
(D) Sumatra and Java

Q. 10 Which of the following is the largest
Islamic Nation in terms of Muslim population:-

(A) Pakistan
(B) Bangladesh
(C) Indonesia
(D) Egypt
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Q.11 TOR YOI &1 §&u fohg Asa & §-
(A) 81T HSo

(B) §HATT HSH
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(D) @A HIA
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(A)1,2
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(D)1,3,4
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(A) TeaTed
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2 pol
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(n) AfRT3EH
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(C) FUFIN
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A e S g
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(8) FEOTET I
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(D) A2E I
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(A) ISR
(B) HeAAg
(C) A

(D) 3@

o ©
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(A)TE 3 2T
(8) 7% Mg E
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(D) I® TS TETEX
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(A) T HIfRATHT & Fifaery HeTdT &

(8) RHITR & TSgardl HereA # O
(C) AT & HTderaTdr TIaT & D
(D) 375 ® &1 ALY ‘
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(C) 1935
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Q.11 Communication technology is related to:-
(A) Troposphere

(B) Stratosphere

(C) Mesosphere

(D) lonosphere

Q.12 Who is the author of geet Govind :-
(A) Banabhatta

(B) Govardhan

(C) Jaidev

(D) Laxman sen

Q.13 Which of the above are famous for
production of traditional sarees :-

1) Bhadrachalan

2) Chanderi

3) Kanchipuram

4) karnal

(A)1,2
(B)2,3
(01,23
(D)1,3,4

Q.14 Which of the following Gupta ruler is
known as nepolean of india:-

(A) Chandra gupta
(B) Samudra gupta
(C) Kumara gupta

(D) Akansha gupta

Q.15 Which of the following dance form is
performed only by males :-

(A) mohiniattam
(B) Odissi

(C) Kathakali

(D) Manipuri

Q.16 Grand Trunk Road is known to be built
by :-

(A) Babar
(B) Krishna Dev Rai
(C) jahagir
(D) Sher Shah Suri

Q.17 Which of the following language is not

declared as classical language by the

government of India ?

(A) Gujarati
(B) Kannada
(C) Telugu
(D) Odia

Q. 18 Khalsa Panth was founded by :-

(A) Guru Arjun Dev
(B) Guru Govind Singh
(C) Guru Nanak

(D) Guru Tej Bahadur

Q.19 Gadar party is related to :-

(A) Revolutionary Association of San Francisco
(B) Nationalist organisation of Singapore

(C) militant organisation of Berlin

(D) none

Q.20 The concept of Dyarchy was introduced
at Centre by which of the following act :-

(A) 1909
(8) 1919
(C) 1935
(D) 1947
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(D) ITUAH FATATAL

[P.T.O.




D D

Q.21 In which of the following year ‘Jana Gana
Mana’ was adopted as the National Anthem of

India :-

(A) 1948
(B) 1947
(C) 1950
(D) 1952

Q.22 “Abhinav Bharat” was founded by :-

(A) Lala Lajpat Rai

(B) Krishna Kumar Mishra
(C) V.D. Savarkar

(D) Ajit Singh

Q.23 Which of the following is not a

fundamental right:-

(A) Right to practice religion

(B) Prohibition of child labour

(C) Right to higher education

(D) Right to freedom of expression

Q.24 Any bill is a money bill or not is decided
by:-

(A) Presicent

(B) Prime Minister
(C) Speaker

(D) Opposition leader

Q.25 Who was the chairman of first session of
India constitution assembly :-

(A) Dr. Rajendra Prasad

(B) Dr. sachidanand Sinha
(C) Pandit Jawaharlal Nehru
(D) Or. B.R. Ambedkar

Q.26 Who is known as first law officar of

India:-

(A) Chief Justice of India
(B) Law Minister
(C) Attorney General of India

(D) law secretary

Q.27 There is a parliamentary system in India

because :-

(A) Lok Sabha is elected by the people

(B) Parliament can amended constitution

(C) Rajya Sabha cannot be dissolved

(D) Council of Ministers is responsible to the
Lok Sabha

Q.28 The idea of welfare state is related to :-

(A) Preamble
(B) Directive principle of State Policy

(C) Fundamental rights
(D) Fundamental duties

Q.29 For which of the following there is a no
provision of joint sitting :-

(A) Ordinary bill
(B) Finance bill
(C) Money bill

(D) None of these

Q.30 Which of the following is known as the
fundamental Guardian of fundamental rights:-

(A) President

(B) Prime Minister

(C) Speaker of Lok Sabha
(D) Supreme Court

[P.T.O.




Q.31 Ffue € Todt HagHr §9foa | 2

(A) ¥TgRd FAfaat &
(B) I &1 Toawe Al |
(C) TaTgar &

(D) STWTHT &

Q.32 ¥Rd & FuAS FafET & qaa-

(A) NFTI F TSI AT 1T

(B) TSTTHT FT TSTT g arfgw

() T8 & Fd & TEE & TEE Qe
aifRe

(D) freTeft e FT HeEg AQ Tgslt e B

Q.33 ¥Fd I & FNF &:-

(A) FTE STEHTFATSS T ATBIST

(B) F& TZHTFARE T FHdeT AANFAES
(C) FTdT IBIHTFASS TF MAA

(D) ATSEH HFATSS U Howl IFHTFATSS
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2) FTSARE - HAH
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4) TOTUER - [TEATA

(A) 1,2

(8)1,2,4
(€)2,3,4

(D) T8

Q.35 g @ $r fadwar &:-

(A) AT Td FIE BHA Al T Wl
() faf@7r woar &1 va |rU Wl
(C) 37ATST &Y Wl & TTY qaTeTe

(D) 3AH & 1S AL

Q.36 TaYaqur FIeTor yRfAad dd AT 27 2

(A) 1986
(8) 1992
(C) 1973
(D) 2006

Q.37 T FEetar gefad ¢ 2

(A) ST FIETOT &

(8) Sy afEd= &

(C) FheIEd Sfrar & FIETT |
(D) St fdrar &

® 0

Q.38 TS Tl grAT g

(A) graIfaFa=
(B) Fgfo=T

(C) vz
(D) 133

Q.39 3AH ¥ FIF T AT I7 AL g

(A) Fopce=
(8) HfeeT
(C) gT33IaT p
(0) @ferH ©
Q.40 FIX & ISH RAT g F0 S
g

(A) Raforrer
(B) SIfATH
(C) BTIX
(D) =TT
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Q.31 Sixth schedule of Constitution is related

to -

(A) Schedule tribes

(B) Allocation of Rajyasabha seats in state
(C) Panchayat

(D) Language

Q.32 The Prime Minister of India at a time of

appointment :-

(A) Must be @ member of Lok Sabha

(B) Must be a member of Rajya Sabha

(C) Must be a member of either House of
Parliament

(D) May not be a member of either House of

Parliament
Q.33 Acid rain is caused by :-

(A) Carbon dioxide and Nitrogen

(B) Carbon dioxide and Carbon mono oxide
(C) Carbon dioxide and Ozone

(D) Nitrous oxide and Sulphur dioxide

Q.34 Which of the following is correctly
matched :-

1) Jim Corbett - Uttarakhand
2) Kaziranga - Assam

3) Silent Valley - Kerala

4) Ranthambore - Rajasthan

(A) 1,2
(B)1,2,4
(C)2,3,4
(D) Al

Q.35 The basic features of mixed farming is :-

(A) Cultivation of both cash crop and food crop
(B) Cultivation of various crops simultaneously
(C) Cultivation of crops with rearing of animals
(D) None of the above

Q.36 Environment protection act was adopted
at .-

(A) 1986

(B) 1992

(C) 1973

(D) 2006

Q.37 Paris agreement is related to :-
(A) Ozone depletion

(B) climate change

(C) Conservation of endangered species
(D) Biodiversity

Q.38 Which hormone is composed of lodine :-
(A)Thyroxine

(B) Insulin

(C) Adrenaline

(D) Steroid

Q.39 Which of the following is not a noble
gas:-

(A) Krypton

(B) Argon

(C) Hydrogen

(D) Helium

Q.40 I.C. chips of computer are made by :-

(A) Silicon

(B) Chromium
(C) Copper
(D) Silver

[P.T.O.




Q41 adr F grry Ao & R gER &
TEHT JE FT ITAT AT 6-

(A) TRT TR

(B) &I aT
(C)vEg - fayor
(D) RearT faRoT

Qa @I/ T @ R F Ty ¢ -

(A) gt &

(B) 5T TaTE &
(C) FEas &
(D)3 wehr &

Q.43 0 dea 1 wfafa gefa & -

(A) T A

(B)ﬁ'ﬂ?ﬁw Td HqeT IHAA
(C) @eT FRT &

(D) faccira gAE@YT &

Q.44 XA &1 YA faeme 3¢ ¢ -

(A) el =T
(B) AgT FEAA
(C) S

(D) TS

Qas Iyfw ydarE &1 Few R
T ?

(A) vEH fEAY
(8)F. A, FI=H
(C) BTZHA FIoTAT
(0) TR faeat
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Qa6 e demarar # e W & HEA
-

(A) 3T T TSI
(B) X I1STET @M
() fder sqg dean
MEEEECE

Q47 TEANR. ( A 3R HEFR) FHr
gey frw @ ¢ -

(A) 3TS. TH. TW.

(8) faea & o)
(C) 3=, & 3.

(0) T FfAga =

Q.48 INEdT Taadfy Qo Y ™ g -

(A) 2015 - 20
(B) 2012 - 17
(C) 2010- 15
(D) 2020 - 25

Q.49m§rﬁsﬁ-7ﬁrmm§§2ﬁ?

(A) &F
(B) IARFT
(C) e

(D) 3T

D S

Q.50 THTAAEDT TAT FHedTT AFAAT FERd g

(A) 3TaTE &

(B) TWIEH T |
(C) el Uef A

(D) FTETToTR FRET A
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Q.41 Which of the following light ray is used in
remote control of T.V. :-

(A) Visible rays

(B) Infrared rays
(C) X - rays

(D) Ultraviolet rays

Q.42 Repo & Reserve Repo rate is related to :-

(A) Banks

(B) Liquidity

(C) Inflation

(D) All of these

Q.43 Ratan watal committee is related to :-

A) Poverty

(
(B) Demonetization and cashless
(C) Food security

(

D) Financial inclusion economy

Q.44 Which is the oldest and largest industry

© of India :-

(A) Cotton cloth
(B) Iron steel
(C) Jute

(D) Paper

Q.45 Who is the known as the father of
modern economy ?

(A) Adam Smith

(B) .M. keynes

(C) Symon kugnet
(D) Woodrow Wilson

11

Q.46 If interest rate is decreased in economy
as a result :-

(A) Consumption expenditure will decrease
(B) Text collection will increase

(C) Investment expenditure will increase
(D) Total savings will increase

Q.47 SDR (special drawing rights) is related to:-

(A) LM.F.

(B) World bank

(C) W.T.O.

(D) European Union

Q.48 The Tenure of 12th five year plan is :-

(A) 2015 - 20
(B) 2012 - 17
(C) 2010 - 15
(D) 2020 - 25

Q.49 Recently G7 conference was held at :-

(A) Russia
(B) USA
(C) France
(D) Italy

Q.50 Pradhan Mantri Garib Kalyan Yojana is
related to -

(A) Housing
(B) Food security

(C) Black money
(D) Social security

[P.T.O.




Q.51 ¥\ (BHIM)§ -

(A) ¥RA 3ee FANA
(B) ¥R 33EGST AMA
(C) ¥RT ZTTHF BR Al
(D) ¥R AT R A=A

Q.52 3HES FATECA T TF-Y frad & 2

(A) gt &
(B)dT &

(C) MR TR
(D) HRAT ¥

Q.53 3UFAT Hecd s [hadh Fraey A
Heer Jar § 2

(A) 3T fawrE X
(B) FITE A &I
(C) RS &

(D) dfRa® IR 2T
Q.54 T AEFH Aot fhay FFead ¢ ?

(A) IR TR

(B) FeTl &1

(c) BfSreer e
(0) 3R & FI13 QT

Q.55 & wAeT | HAe ggnn gEdd
& ST § 2

(A) facd FATAT
(B) ¥f¢ HATIHT
(C) aTfoTeg FHATAT
(D) FIfETHT Farery
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Q.56 heT-adar F&T Sher gRATAT HT am'
fFet 2t T=ar & AT ?

(A) 3cTTHEY-Bea TG
(B) HETYS A-HERTSE
(C) FETTET-FeaTTS T
(D) ALAYS A-TTSTEATH

Q57 98 FIFET g Ted g O AHeeH
fasmr &1 37 fFar?

(A) FERTSE
(B) fgATTS yer ()
(c) RfFwra
(D) HEAWL A “j

Q.ssmuTH#y@mwowmm'
fraa & 2

(A) FHRATRAT &

(B) T, FHR F AT T &7 g
() Reelr & AT T FT oA

(D) g Sfc/seta &

Q59 R A J AT § -

1) do¢ ad U3 griordr A1 &

2) -8 & @ Row af w7 # afksea frar
HRIN

3) HRA UTS TEANT HUCA & TSET ¢

(A) hae 1
(8)1,2
(C)2,3

(D) T
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Q.51BHIM is ?

(A) Bharat Internet Machine

(B) Bharat Heavy industries Machine
(C) Bharat interface for money

(D) Bharat Internet for Money

Q.52 Diamond Quadrilateral is related to :-

(A) Jewelries

(B) Bank's

(C) Share market
(D) Indian Railway

Q.53 Consumer price index CPIl is measured to
determine :-

(A) Economic growth rate

(B) Human Development rate
(C) Inflation rate

(D) World Trade rate

Q.54 Lucky Grahak Yojana is related to :-

(A) Share market
(B) Black money
(C) Digital payment
(D) None of these

Q.55 Economic survey is present in Parliament
by which of the following ministry :-

(A) Finance ministry
(B) Budget ministry
(C) Commerce ministry
(D) Statics ministry

13

Q.56 Which of the following two States will be
beneficiary of Ken Betwa river linkir g project ?

(A) Uttar Pradesh - Chhattisgarh
(B) Madhya Pradesh - Maharashtra
(C) Madhya Pradesh - Uttar Pradesh
(D) Madhya Pradesh - Rajasthan

Q.57 Which is the first state to stablish
Anandam (Happiness) department :-

(A) Maharashtra

(B) Himachal Pradesh
(C) Sikkim

(D) Madhya Pradesh

Q.58 Article 370 of Indian constitution is
related to :-

(A) Homosexually

(B) Special Status to J & K
(C) Special Status to Delhi
(D)SC/sT

Q. 59 Which of the following is correct :-

1) China is given one belt one road policy
2) Russia is exclude from G-8 at last year

3) India is @ member of Shanghai cooperation
organisation

(A) Only 1
(B)1,2
(C)2,3
(D) All

P.T.O.




Q.60
1 ¥REg T feaw ~(A) 5 §F

) TR afee Rew ~(8)22 dW
3 g fEw ~(C) 24 FFIY
4 & J@for fgew ~(D)21 S

Fc gafad AR

(A) 1D, 2C, 3A, 48
(B) 1A, 28, 3C, 4D
(C) 1D, 2C, 3B, 4A
(D) 18, 2D, 3A, 4C

Q.61 TUFH Isoad ATFAT FFEd ¢ -

(A) T cafFd 1 d8F T Goa= @

(8) #fewma & Aes T dLS FATT 24
q

() g RErt F e TSI Te
AT

(D) E1.57.Tw. GRERY F HEE Y& FA

Q.62 WYX &3 a0 & = & gl ¢

(A) 10
(B) 12
(C) 14
(D) 16

Q63 &7 & A gam FrATTgH gOTeT faare
fre 2 @ grafea o1 ?

(A) Trgafa et &

(B) ZoT-dedt favas @
(c)h.vw.&. fadus |

(o) Farehelt fr g gfear &

Q.64 SN.TEE. F grasT A a2

1) TE TFH TGN Y TedaT & Joel o

2) 3T HaA 4 gER Hr gy AUl fr oo
3

3) Nuw & ofiwg & Iregerdr TUTAA EanT
&r St

4) TE GOTEN 1 e 2017 & @ & W &

(A) 1,2
(8)1,3,4
(C)2,4
(D) el

Q.65 e & ¥ FlTar g A &

9 O

1) faTas amaver-&.5i. arerdsoT

2) AETOET qeTeR- AR AT

3) ed ART-ar g dr.Es

4) ¥R & qCT FTer-3). UH. WeT

(A)1
(8)2
(€3
(D)4

Q.66 FLOWeY & 77 & @ HAGT o 7
ey Y g 2

&
(A) FTerd )
(B) TGS
(C) 3T
(D) BT

Q.67 9RT FT Faw & ARSE &l © 2
(A) ATg

ECUGEE

(C) &raTer

(D) ZER
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Q.60
1) International yoga day --A)5June
2) national girl child day  --B)22march

3) Environment Day -- C) 24 January
4) Water Conservation Day - D) 21 June

Match the above

(A) 1D, 2C, 3A, 4B
(B) 1A, 2B, 3¢, 4D
(C) 1D, 2C, 3B, 4A
(D) 18, 2D, 3A, 4C

Q.61 Prime Minister Ujjawala Yojana is related

to -

(A) Bank account for every individual

(B) Providing free LPG connection to women
(C) Providing free LED to poor families

(D) Providing housing to BPL families

Q.62 There are how many digits in Aadhar card

number :-

(A) 10
(B) 12
(C) 14
(D) 16

Q.63 Recently held collegium system debate

was related to:-

(A) Presidential elections
(B) Anti defection bill

(C) GST bill

(D) Appointment of judges

Q.64 Which of the following is correct relation

to GST -

1) It is a kind of direct tax

2) Under GST, there are 4 different types of
rates

3) GST Council will be headed by Prime

Minister
4) it will be enforced on 1st July 2017

(A)1,2

(B) 1, 3,4,
(C)2,4

(D) All of these

Q.65 Which is not correctly matched :-

(A) Election Commission - K.G. Balakrishnan
(B) CAG - Shashikant Sharma

(C) finance commission- Y. V. Reddy

(D) Chief Justice of India - JS Khehar

Q.66 Which of the dilect is not of M.P. :-

(A) Malvi
(B) Bundelkhandi
(C) Gondi
(D) Kourvi

Q.67 The largest mosque of india is at :-

(A) Mandau
(B) Gwalior
(C) Bhopal
(D) Indore

[P.T.O.




Q.68 1956 & FUAWY T Fewr 87 mEnISe
H wferaa o mar o)

(A) AT
(B) BedTTE
(C) T

(D) facst

Q.69 FEOWEY FT TIIF WW arem
fSrem FiFar § 2

(A) FTE3T
(B) SlTeTaTC
(C) Hzam
(D) {3

Q.m%mﬁ#mgmmwmr
TWFR ar Renfsat &t fear smar & 2

(A) 3 GIERR
(8) TdsF qTERTT
(C) IO JTEHR

(D) WT T TR
Q.71 FIOUeYy 7 5o & e §-

(A) 46
(B) 48
(C) 50
(D) 51

Q72 B & & Far g drdaw AR
zary o o A 2

(A) 3t
(8) 3RIE
c) HfZaT

)

(
(0) e
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Q.73 & 7 Nofar w oy odad @ Aoy |
ﬁmgézh?

(A) FYSTTY
(8) AR

(C) qTed=TY
(D) FETER

Q.74 3R @ FiAAT F e F AT 7
g

(A) FFTF 2
(B) §FIH €T @
(C) §FI a1l ")
(0) §FTSH AT

Q.7smm$WWﬁm%

(A)7

(8) 9
(C) 16
(D) 24

fadar (wed T 76 ¥ 80) P, QR SHN T

Og fFd gl & e R, & ol

F ey 3R w g 1 @ardr & ek

s dfaaTea ARETE ¥ @ A o AW F@0)
o giAs o afger 7 A v Wedr ¥

W oa & Rw Ao YT ¥ e Raka
Srer g Swd tofd ) Q RE a8 R aw

T e 1 e & AR T & g

Raemsr &

Q.76 T & XA a1 R Fi ¥
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Q.68 Which of the region of M.P. was merged

with maharashtra in 1956 ?

(A) Malwa
(B) Chattisgarh
(C) Chanderi
(D) Vidharbh

Q.69 Which of the following district of MP has
the highest sex rate ?

(A) Jhabua
(B) Balaghat
(C) Mandla
(D) Bhind

Q.70 Which of the following Sports Award
belongs to MP government ?

(A) Arjun awards

(B) Vikram award

(C) Dronacharya Award
(D) Khel Ratna Award

Q.71 There are how many districts in MP ?

(A) 46

(B) 48

(C) S0

(D) 51

Q.72 Which of the following ‘rat was
propounded by lord Mahaveer ?

(A) Non - Stealing

(B) Non - Possession

(C) Non - Violence

(D) Celibacy

17

Q.73 Which jain tirth Kshetra attained Nirvana

from Kailash rauge ?

(A) Rishabhnath
(B) Neminath
(C) Parshvanath
(D) Mahaveer

Q.74 Which of the following does not cause
under Tri Ratna ?

(A) Right knowledge
(B) Right medication
(C) Right conduct
(D) Right action

Q.75 There are how many heavens according
to Jain Agam ?

(A)7
(B)9
(C) 16
(D) 24

Directions:- (Question Nos. 76 to 81) : There
are 5 persons P, Q, R, S and T. One is tennis
player, one is chess player and one is hockey
player. P and S are unmarried woman and do
not play any sport. None of the women plays
either chess are tennis. Among them there is a
married couple in which T is the husband. Q is
the brother of R and is neither a chess player
nor a hockey player.

Q.76 Who is the Tennis player ?
(A) P
(B)Q
(C) R
(D) S

[P.T.O.
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Q.77 3 ¥ g & A FF § 2

(A) P
(8)Q
(CR
(D) S

Q.78 TAH ¥ IS R FiF ¢ ?

Q.79 3FH F TH Tl & § 2

(A) P
(8)Q
(C)R
(D)sS

Q.80 & ¥ = AW &

(A)P, QR
(B)QR,S
(C)P,Q,S
(D)P,R,S

Q.81sa&mu§amgﬁﬁmgm
@wma&aﬁmjﬁmg@rﬁmﬁ
T QITITEE 3R 36 T A 3
1 82

(A) 32a¥, 12 a¥
(8) 40 @, 16 a¥
(C) 56 @y, 22 ¥
(D) 64 @Y, 24 I

Rrdar. (wes R 82 R 83) A & At
FEH F FF ZuE FEAaad 9@ §

IR L
738
429
156
273
894

Q82 BeaRg & § FFw IR & Al
mwmﬁm,mmma
gUH ¥E @ 3T I FREaHE IE A
FeoEt ued wF § FART S|

(A)2
(8)3

D
(s &

(D)7

Q.83 X ¥ YRS FEA & 3@ H T
3o (Reverse) FA & dIg A8 A @'ﬁ 4
HOFIH FE F WY I’F Hlar gem 2

(A)1
(B) 2
(C)4
(D)7

Q.84 fFAT FeaE @AY A FHIR F FUAR
F 3rEa aUEE 27 °Cc wm ¥R FeeErw ¥l
TEAN @F & SEd AEAE 24 °C A A o
me@maxmwz/zw
&, AR & AUAA 2T

(A)9°C
(B)20°C
(C)18°C

(D) 3TH & &S gl

[P.T.O.




Q.77 Who is the hockey player ?

(A) P
(B) O
(C)R
(D) S

Q.78 Who is the chess player ?

(A)P
(8)Q
(C)R
(D)S

Q.79 Who is the wife of T ?

(A) P
(8)Q
(C)R
(D)5

Q.80 The three ladies are :-

(A)P,Q,R
(B)Q R, S
(QprQs
(D)P,R,S

Q.81 Rahul was 4 times as old as his son 8 year
ago. After 8 years, Rahul will be twice as old as
his son. What are the present ages of Rahul
and his son ?

(A) 32 years, 12 years
(B) 40 years, 16 years
(C) 56 years, 22 years
(D) 64 years, 24 years

Directions (Question Nos. 82 and 83) : See the
sequence of numbers below and answer tHe
following questions. 738

429

156

273

894

Q.82 Which of the following will be the second
digit of the third number from the top when
they are arranged in the descending order,
after the first digit in each number is changed
to the next highest digit ?

(A)2

(B)3

(€)5

(D)7

Q.83 Which of the following will be the last
digit of the second highest number, after the
position of the digits in each number are
reversed?

(A)1

(B) 2

(C)4

(D)7

Q84 In a
temperature of Monday to Wednesday was

27°C and mean temperature of Tuesday to
Thursday was 24°C. If the temperature on

particular week the mean

Thursday was 2/3 of the temperature on
Monday, then the temperature on Thursday

was:-

(A)9°C

(B) 20 °C
(C)18°C

(D) None of these

[P.T.O.
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Q.85

223075 3
376 Cy1FmaAmE:
=0 > 3

Wl N|WIN

(A) 46/75
(B) 13/75
(C) 26175

(D) 37 & IS el

Q.86 T& afFd & AT ASY A 15% A
afg & mwh | 3§ @fFd @ T 0 230
yfafta Bew @ 3 ¥ q@ 3EH dfAw
Forgy fa=r dn

(A) 202 &

(8) 210 &

(C) 212 ®

(D) 200 ¥

Q.87 TF Teaaid 7 & WAY & AT F
mvsommaﬁmlmmﬁ
3ifam o ot & 98 A 6 I & g at
sTaT W 2 & FF g AT §I3FR JF H
sfaw Ea &

(A) 30 T
(8) 25 W
(C) 28 &
(0) IRFT & & FI5 G

Q.88 T AT YA Fo T F /4 e
Wﬁ,a/s%vmmﬁamaﬁ?aﬂm
Rretdley @8 & a9 AT & 138H @ dd
1 7 0 8

(A) 148 AT

(8) 168 faRT

() 127 freY

(D) 128 ford

Q.s9ﬁmﬁﬁﬁmﬁ%1/3ﬂm%?

(A) 22/63
(B) 4/11
(C) 15/46
(D) 33/98

Q.90 25 aﬁmwmwzo a'?@rza’r?s

Rea 7eg & aUe § o gfaerd ©
(A) 20%

(B) 25%

(C) F g A g

(0) ITdFT # A FIZ AT o
®

Qo1 TF ¥ F vF w2, garg 4 uehE 4
ﬁ?ﬂﬁﬁ&ﬁ&%ua:snmﬁm

%laﬁﬁﬁﬁgﬂﬂwzz.zsx.%,a’rﬂﬁﬁ :

50 4 & e f gEar &

(A) 15
(B) 25
(C) 35
(D) 5

s THE BEA HIT oIl

(A) 72 TH3
(R) 120 THE

(C) 160 THT
(D) 20 U3

[P.T.0.
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Q.85 The value of

WIN

#0759 2
§—§ X 124%%%
6

o |[oolo

75 X

win

(A) 46/75
(B) 13/75
(C) 26/75
(D) None of these

Q.86 The daily wage of a person is increased
by 15%. The person now gets Rs 230 per day.
What was his daily wage before the increase ?

202
210
212
200

(A) Rs.
(B) Rs.
(C)Rs.
(D) Rs.

Q.87 A batsman had scored a total of 750 Run
before the last test match of the season. In his
last two innings of the match he scores only 6
runs, and his average drops by 2 runs. His final

average of the season, is

(A) 30 runs
(B) 25 runs
(C) 28 runs
(D) None of above

Q.88 A man Travels 1/4th part by scooter, 3/8
by car and the rest 48 kms by bus of the total
travel. The total distance covered by him is

(A) 148 kms
(B) 168 kms
(C) 127 kms
(D) 128 kms

21

Q.89 Which one of the following fractions is
less than 1/3 ?

(A) 22/63
(B) 4/11

(C) 15/46
(D) 33/ 98

Q.90 The cost price of 25 articles is equal to
the selling price of 20 articles. The gain

percentage, is '

(A) 20%

(B) 25%

(C) No loss, no gain
(D) None of the above

Q.91 A bag contains one rupees, fifty paise,
twenty five paise and ten paise coins in
proportion 1:3: 5 : 7. If the total amount in
the bag is 22.25 Rs. , the number of fifty paise
coins, is

(A) 15
(B) 25
(€) 35
(D)5

Q.92 if 4 men can reap 40 acres in 30 days,
then how many acres 18 men will reap in 12
days ?

(A) 72 acres
(B) 120 acres
(C) 160 acres
(D) 20 acres

(P.T.O.




fréen- P Ru v i Ry &1 wvwne
AR 3R v & 93,94 HR 95 FT IeW

A-> s A ST
B-> FTH & ST
Cc-> fafeu

D-> U
E-> e § awrd
F>fee a1t & g

Q.93uﬁmaa‘nﬁw@m§mnfﬂ
mﬁ@mwwso%mer
ﬁ%ﬁ’s‘wsoos,%a‘rgmﬁa?@rf%ﬁa;ﬁ
grefy

(A) 6500 %.
(B) 14625 %.
(C) 11250 %.

(D) 3 / HIS gl

Q94 T Ry eF (@d) 6000 ¥ &
et e (@) F4 g ?

(A) 9000 .
(B) 27000 .
(C) 133333 .
(D) 15000 =.

Q95 AR TUE & AT 17500 T § A
o) fhae grefl

(A) 7500 2.

(B) 15000 %.

(C) 3500 3.

(D) 750 .

Rt PR i @ IR AR TEE
ST T I geAY (7 96 ¥ 100) F Ieal

AR | g g & IeX FAd AW W
IR g wfgvl

HROFRY & 7L A FAed HGAT gl
¥ afr g msh e Fdedt & AdgT W
ar R F g Fe BfsA g gl
afs g7 Fdedt @1 ke R e Ao
& 0% a ¥ A & o g @ I | EH
foraer 3% Oy ey & 3a & 33
ST

A Be qoEEE aftd sed amT #0)
a&waﬁ%a%wm%mm?ﬁ%q

MNad & 92F WA A g A g
TR afFT F1 T I HAT & & S

rsdrm At gawr usd Sfta|d &

e &1 afy oo Shad gder At
A o ¥ wafAufag © ar gfafdtes &
HTaTEHaT AT & ofar & 3R 33 Ryfa &
T GqE IRSTRaT H awdr [AAT g S
T aEwr & yAS gfed F@I F AR
flar & | 98 HUR WY & 3§ RE ARd
AT & F 3o 29l & O Fefr o ey

T WU A FUF E A FTER T

e ¥ S TEW FA AEA H el

Q96 ITIFA TEATA & HUN G FlFAr
fAsey fAdren AT Hehell € 2

(A) T Sraa 1 e o gfafafeat
3 @y @ 3

(8) T Shaed @ Tokehfas fdd Fecd
gl &

€ vfFd & FRweaa & fav gfaffta
e rica e

(D) 3F & F FE A
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Directions : Study the pie chart given below

and answer the question Nos. 93, 94 and 95.

A-> TUTE 1 ST
B-> FITH & TG
Cc-> fafau

D-> Tgee)
E-> fasgs & arg
F>foeg a3 & amrd

" 35% A /;\\

Q.93 If the total sale from the book is Rs.

97500 including 30% profit on production cost,
then the royalty is

(A) Rs. 6,500
(B) Rs. 14,625
(C)Rs. 11,250
(D) None of these

Q.94 If the miscellaneous charges are Rs. 6000

the advertisement charges are :-

(A) Rs. 9,000
(B) Rs. 27,000
(C) Rs. 1,333.33

@ (0)Rs. 15,000

Q.95 If the cost of printing is Rs. 17,500 then
the royality is :-

(A) Rs. 7,500
(B) Rs. 15,000
(C) Rs. 3,500
(D) Rs. 750

W

Directions (Question Nos. 96-100) : Read the
following excerpt and answer questions asked

at the end. The answer to the questions should

be based on the excerpt.

The true source of rights is duty. If we
all diséharge our duties, rights will not be for to
seek. If leaving duties performed we run after
rights, they will escape is like a ‘will-0’- the-
wisp’. The more we pursue them, the further

they fly.

To me political power is not an end but
one of the means of enabling people to better

their condition in every department of life.

Political power means capacity to regulate

National life through National representatives.
If national life becomes so perfect as to
become self- regulated, no representation
become necessary, there is then a state of
enlightened anarchy. In such a state everyone
is his own ruler. He rules himself in such a
manner that he is never a hindrance to his
neighbor. Thoreau states : “ that government
is best which governs the least”.

Q.96 Which of the following inference can be

drawn from the above excerpt ?

(A) National life is regulated through National
representatives.

(B) Political power is given to National life.

(C) Representation is not the best way to
exercise power.

(D) None of the above.

[P.T.O.




Q.97 ITEFE TEARY F FFEY X Y

— N
FLF JcT g2

(A) TEC HUARAT ¥edd @HET ¢

(B) ¥icm-fAgEa, TEg Weedar & T o
ST §

() ¥ex-TFgma & 7Y wen v g
3

(0) F&@ I HHE-BFTES A& @ar &A@
T Aaa et g JET §

Q.98 ¥R F FUF F ¥ FAT § 2

(A) TEIAF AMHS FT AT IHS & AT
# ¥R & JTaT R

(B) 3% MEA TEH™E § A FF ¥ FF WA
5

(€) IMEA F HHE F HY FIE IS
ATEF A g Bl

(D) 394Fd & F g 7|

Q99 IdFd TMeEwy #A ¥ Seawr fAswd
YT JT FHhaT & 2 !

(A) HFR el F HTET F &

(B) T N HTH WE AGl HHA T FH
37T @ & Hed X e T wiReR|
) ¥l g TR M Fdal &1 om
21 & yed R Aemd A HiUER

(0) 37EF & & FL A

Q100 39YFd T & FEEU R
Eafafaa # @ S8 76 g ?
(A) TNfas afeq cafFaed faa & an &

J
(8) Tataifas fFad oel & HHATT Fogror

& fov g

Frufrat ot afdd
fuior &l @
(ORToNRE of¥a @1 FEawtr @ f e

gl

(c)zmarforer

O
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Q. 97 Which of the following statement is true

in the context of the above excerpt ?

(A) Enlightened anarchy is very common.
(B) self-regulation leads to enlightened

anarchy.
(C) self - regulation means self -

representation.
(D) National life becomes perfect when there is

a no self-regulation.

Q.98 What is the meaning of Thoreau's

statement ?

(A) The path of true governance leads to no

governance.
(B) Less governance leads to Dbetter

governance.
(C) No governance means best governance.

(D) None of the above.

Q.99 Which of the following inferences can be

drawn from the above excerpt ?

(A) Duties follow rights.
(B) Duties unperformed means rights well

performed.
(C) Duties well performed means rights well

performed.
(D)None of the above.

Q.100 With reference to the above except,

which of the following statements is correct ?

(A) Political power is about personal life.

~ (B) Political power is about the general good of

the people.
(C) Social conditions determine political power.
(D) Political power is related te ends.

e ————
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FAST 1&S ACADEMY

Entrance Test — 2017

Word Limit : 500 Words

ESSAY

Marks: 30

Roll No. |

Date: 10/06/2017

> frafafaa Rl & & & & w 500 et & Dger T -

w N =

. gEer U9 e

H

. YUHAFEN & AT A 919
S Sae, ST R
. GrereT AT e o aven

5. AP HIEAT: WA T T F

» Write an assay on one of the Following Topics in 500 words :-

R I SR

Jai Jawan, Jai Kisan

PrimeMinisters : Mann ki Baat

Social Media : Bane or Boon
Environment and Development

Meri Bhavana : Towards the society and nation

1

[P.T.O.





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

